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Equation of a line: ys-ﬁ‘hf’e?cept form Y )E

Identify slope and y-intercept

m=_¢ (gpg y-intercept_ywvalue wihen X= O
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a)y=-3x+12 b)y=2x-18 C)y=-5 x+5
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Slope-Intercept Form Yy =mx +b
m =_SLQM y-int(b)__4velue when x50 ¢ \t - am'é

Given the graph, state the slope and the y-intercept. _
slope=m=_ =5 slope=m="F slope=m=__ '
y-intercept=b= {&,1) y-intercept=b= 6,-2) v-intarcant=h= CO“:}
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Write an equation given the slope and y intercept(b)
1) the line crosses the y axis at 4 and has a slope of 5 _% s 61‘ + \-[

=
2) the line crosses the yaxis at -3 and has a slope of 2/3 \3: 3K=3

3) the line crosses the y axis at 0 and has a slope of -1 \9 -l trO

4) the line crosses the y axis at 5 and has a zero slope !3 0¥ t S
Y=5

5) the line does not cross the y-axis and has an undefined slope N% .
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h.w. handout on slope-intercept form



